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Exercise 1

Sei 1/ Paper | 5 546312- e gmprullyb S LIS
Qereni. BevsE g7

| 656 412 eremiemmel : Which digit has the digit value hundred
sl thousand in 545 3127

656 412 written in words is A ; &%

A &Mﬂ.@@l BOUSFH HoTlrSs
BETETHH Uiy em(. B é D 36

hundred fi _
ﬁidl::dfundﬁh{’:gethoumnds o 6 uLb 1, aevnseiean auflmsamwd ST HEIDE

B csumj ﬂﬂggj prullTss) mreyTHmy Diagram |, shows a number pattern.
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Sndy six thousonds-Four hundred Cfnd twelve. 89 lﬂﬂS [j 88 545 88 bq5
C Soaiy Lol ey uLib 1 /Diagram 1
Six hundred fifty-six thousands four hundred sLLgdle0 Bmes GCouemnqu erewt wirg?
and twenty-one. What number is in the box?
A 88 995 C 88900
D J{gﬂﬂﬂé@ wﬁﬁnuﬂgﬁﬂ ﬁ“@”ﬁ’m’ B 87 995 D 89544
15\::?: five Ihousunds four hundred and 7 637475 + 233590 =
& A 871 055 C 871065
B 872 065 D 872056

2 320 178-60 2-651 @iy ereicn?

What is the place value of 2 in the number 8 356999 + l = 856 505
320 1787

A gyullyb C mmprullyb sLLSSeD @ &8 Geuemngw erewt wiray?
Thousands Hundred thousands What number r?m the box? ¥ 1
B u‘égﬂuﬂn}m D sy A 499 508 C 499 507
Ten thousands Hundreds B 499 506 D 499 560
3 555 269-@eiQeusmiienem Devsdlar wdoyse | 9 472 164 + 489 983 =
ghpeung Ifs05w5. sLLGSle0 Bpés Coustinqu eenr wng?
Partition 555 269 according digit value. What number is in the box?
A 500 000 + 5 000 + 50 000 + 200 + 60 + 9 A 962 174 C 924174
B 500000 + 50 000 + 5 000 + 200 + 60 + 90 B 963 |47 D Q62 147
C 5000 + 50 000 + 5000 + 200 + 60 + 9
D 500000 +50000+5000+200+60+9 | 10 389 456 , 65 437 , oy 387 999 myes
sremitas ol fﬁll—@ﬁ CS;HEJE eTaIeETeY?
L ofs whiys Cerai eew wrg? Find the total of 389 456, 65 437 and
Which number has largest value? 387 999,
A 969 969 C 996969 A 843895 C 824829
B 999 6469 D 699 696 B 842899 D 842892
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